
���������� ���	
�����
����������


��
���������	��	�����������������������
������	���� ��!��	�"�������#$%�������$&�
�	���������'��
��(�'�)�&�������	
�����
����������
 *��

+,-./,00,1$2,$/3$456230756$4136857.$95::,1$;$<=/,$+30>1,$?$@>76$ABAB

C$DEF<GH/IG..5J730756$2,.$K/,L,>1.$2,$D36M>,1.N$,6$O310,631730$3L,J$/,$D,601,2IE0>2,.$,0$2,$FK3/7.30756.$<3.0513/,.$G/O,.?HK270,1136K,$PDEF<GHQN$/3$DR3:S1,2IGT17J>/0>1,$2>$U31N$/3$4K2K130756$VKO310,:,603/,$2,.$DR3..,>1.$2>$U31N$/IWXX7J,$4136837.$2,/3$Y7527L,1.70K$PW4YQN$/,$1K.,3>$.J7,607X7Z>,$DWGVG<[\$PDWGVGO030756$,601,$<1K230,>1.$,0[>:376.$236.$/,>1.$\,1170571,.$]$̂+FGN$D+F9N$H560O,//7,1$9>OGT15Q_$̀,.$K/,L,>1.$2>$O/30,3>$2,$D36M>,1.N$O/>.$T1362$J3:O$:7/70371,$2IE>15O,N

$

$$

$ D56X/70.$[5::,$;$43>6,$.3>L3T,
$

$

$
$$



���������� ���	
�����
����������


��
���������	��	�����������������������
������	���� ��!��	�"�������#$%�������$&�
�	���������'��
��(�'�)�&�������	
�����
����������
 ���



$ $ Z$Y5?.;-70,$[2I4.<+-KG\,7<04;7-5$60$]0,,0;$T@$0,$3.4-0,.47.-$.<0/$80;$[740/-7+,;[53.4-0:0,-.80;$60;$̂0447-+740;$0-$60$8.$_04$L[[̂ _N$60;$Q̀ -0;E6GH4:+4@$62$X7,7;-940$0-$62_+4?7A.,@$80;$QA.:?40;$6GHI47/28-240$60$a40-.I,0@$8Gb**7/0$X4.,>.7;$60$8.$a7+67<04;7-5$LbXaNBK0$QA+2/.;$60;$-+24;$L N$345;0,-0$2,$45I7:0$.87:0,-.740+:,7<+40$60$-D30$+33+4-2,7;-0$0-$0;-$45I287940:0,-$+?;04<5$0,$:78702$.I47/+80$+S$78;G.87:0,-0$.2P$6530,;$60$67**540,-0;$/28-240;$L?85@$:.c;@$/A+2P@$0-/BN@$0,$34+<+F2.,-$60;,27;.,/0;$J2I50;$-49;$7:3+4-.,-0;$3.4$8.$34+*0;;7+,$.I47/+80B$d,$45I7+,$a40-.I,0@$8.$;+26.7,0.2I:0,-.-7+,$60;$0**0/-7*;$60$QA+2/.;@$.;;+/750$.2P$65IR-;$+//.;7+,,5;$;24$80;$/28-240;@$+,-0,-4.7,5$8.$:7;0$0,$38./0$60327;$eUUf$6G+354.-7+,;$60$45I28.-7+,$6.,;$80$/.640$60654+I.-7+,;$1$8G7,-0467/-7+,$60$60;-42/-7+,$60$/0--0$0;39/0$34+-5I50B$a70,$F2G.2I:0,-.,-/A.F20$.,,50@$80;$F2+-.;$60$34589<0:0,-;$.--47?25;$,G+,-$3.;$304:7;$6G.:587+404$8.$;7-2.-7+,Bg8$0;-$.2J+246GA27$7,67;30,;.?80$60$-4+2<04$60;$;+82-7+,;$0**7/./0;$3+24$.3.7;04$8.$;7-2.-7+,BK0$345;0,-$34+J0-$.$3+24$?2-$6G./F25474$60;$/+,,.7;;.,/0;$;24$8.$?7+E5/+8+I70$62$QA+2/.;$60;-+24;@$60$/+:340,640$80$*+,/-7+,,0:0,-$60$;.$3+328.-7+,$?40-+,,0$0-$;.$6D,.:7F2065:+I4.3A7F20@$.*7,$6G.:587+404$8G0**7/./7-5$60;$:0;240;$60$I0;-7+,B$TWU$fhi$V$6+,-$TUU$UUU$V$*7,.,/5;$3.4$8.$X+,6.-7+,$X4.,>+7;$Y+::04B

$

$

$$

$



���������� ���	
�����
����������


��
���������	��	�����������������������
������	���� ��!��	�"�������#$%�������$&�
�	���������'��
��(�'�)�&�������	
�����
����������
 *��

+$,-./012$,03-22-43$5$6407$839422$:;<;30=->7$?;@03=4A47=024$<4B$C/0BB4D3B$<D$6D30E$47$@03=4703-0=$0F4.$24B:;<;30=->7B$?;@03=4A47=024B$<4B$C/0BB4D3B$<4$2G8-7$4=$<4$20$H0D=4IJ0F>-4E$2GKLL-.4$:307M0-B<4$20$N-><-F43B-=;E$24$O09>30=>-34$CP:PICQRJE$2GS7-F43B-=;$<4$Q07=4334T$8@3UB$0F>-3$<-B@03D$<D$=433-=>-34$70=->702E$24$2V7W$9>3;02$X Y$0$L0-=B>7$34=>D3$47$:307.4$<07B$24B$077;4B$Z[[\E$F-0$20$JD-BB4$]D-$2G0F0-=$3;-7=3><D-=$<UB$24$<;9D=<4B$077;4B$̂\T$O4$2V7W$9>3;02$4B=$0D_>D3<G/D-$D74$4B@U.4$@3>=;̀;4$<>7=$2G0-34$<4$@3;B47.4$4B=a$b\$c$B-=D;4$<07B$24$A0BB-L$_D30BB-47E$.4$]D-$2D-$.>7LU34$D7$L>3=$47_4D$<4$.>7B43F0=->7T$O43;̀-A4$02-A47=0-34$<4$.4$L;2-7$4B=$.>A@>B;$_DB]DGa$b\$c$<4$./4F34D-2B$4=$<4$./0A>-BT$C4B>7̀D2;B$B>7=$;̀024A47=$B>DA-B$a$<4B$@207B$<4$./0BB4$4=$a$D74$0.=-F-=;$.V7;̀;=-]D4$L>3=4A47=07.3;4$2>.024A47=T$8-7B-E$.4B$<>D924B$@3;2UF4A47=B$@4DF47=$@>7.=D4224A47=$d=34$a$2G>3-̀-74<GD74$@43.4@=->7$<4$.>7.D3347.4$<4$20$@03=$<4$20$.>AAD70D=;$.V7;̀;=-]D4$4=$-7<-34.=4A47=<GD74$A0DF0-B4$0..4@=0=->7$<D$2V7WTO4$e3>̀30AA4$e3;<0=4D3$e3>-4B$OV7W$Xeee$OV7WY$BG-7B.3-=$BD3$D74$<D3;4$<4$Z\$07B$4=$0$@>D3F>.0=->7$<G0A;2->343$24B$.>770-BB07.4B$<4B$4LL4=B$.DAD2;B$<4$20$./0BB4$4=$<4$20$@3;<0=->7$@0324$2V7W$9>3;02$BD3$24B$AdA4B$@>@D20=->7B$<4$./4F34D-2B$4=$<4$./0A>-BE$<07B$D7$.>7=4W=4$<4.>7B43F0=->7$<D$L;2-7T$C4$@3>̀30AA4$4B=$D74$>..0B->7$<G0.]D;3-3$<4B$.>770-BB07.4B$BD3$24B47_4DW$B>.-0DW$0BB>.-;B$a$20$.>7B43F0=->7$<D$2V7W$4=$<4$B4B$@3>-4BT$C4==4$;=D<4$<4$f$07BE-7=;̀3;4$0D$eee$OV7WE$B4$<;3>D24$<07B$24$.0<34$<GD74$=/UB4$<4$<>.=>30=T$P224$F-B4$a$0.]D;3-3D74$.>770-BB07.4$@3;.-B4$<D$L>7.=->774A47=$<4$2G;.>BVB=UA4$0D=>D3$<4B$3420=->7B$@3;<0=4D3BX./0BB4D3BI2V7WY$g$@3>-4BT$C4B$0.]D-B-=->7B$@43A4==3>7=E$47$0BB>.-0=->7$0F4.$24B$0D=34B$@3>_4=B<D$eee$OV7WE$<G0A;2->343$20$.>/09-=0=->7$47=34$20$./0BB4$4=$24$2V7W$9>3;02T$?4B$0.=->7B$<4FD2̀03-B0=->7$<4B$3;BD2=0=$<G;=D<4B$B>7=$;̀024A47=$@3;FD4BTh[[$fb[$i$<>7=$Z\\$\\\$i$L-707.;B$@03$20$:>7<0=->7$:307M>-B$J>AA43T

$
$$

$



���������� ���	
�����
����������


��
���������	��	�����������������������
������	���� ��!��	�"�������#$%�������$&�
�	���������'��
��(�'�)�&�������	
�����
����������
 *��

̂31$9U2;9:021A-;9$:3$:/;13Z13$31$93$N/;A3$9O0$O;3$?03E2V03$-;;=3$AU=1OA3$3Z?B/0-1/203$E3;=3$3;$_̀ ab$9O0BU3912D3$AU6O0A/O-9$3;$802V>3[$5;$93$N/:-B29-;1$?02;:2?-B3E3;1$9O0$c$3912D39L$B3$?0/̂31$93?0/?/93$AU=1OA230$31$AU->20$9O0$B39$03B-12/;9$3;103$/O09$.0O;$< F$31$?-91/0-B29E3$-O?BO9$?0/:@3$A39$130021/2039[$dB$9U->21$A3$:/E?03;A03$:/EE3;1$10-;9@OE-;19$31$/O09$.0O;?-01->3;1$O;$EeE3$39?-:3$31$:/EE3;1$2B9$2;130->2993;1$-O1/O0$A3$BU3;̂3O$A3$?0=A-12/;$31$A39E39O039$A3$?0/13:12/;$A39$10/O?3-OZ[$R;$A29?/9212N$A3$?2V>39$?@/1/>0-?@2\O39L$BU=\O2?3E3;14YK$AO$10/O?3-OL$B3$9O2D2$A39$3912D39$?-0$:-E=0-$1@30E2\O3$31$BU=:@-;12BB/;;->3$>=;=12\O3A3D0-23;1$?30E31103$A3$E23OZ$9-2920$B3$:/E?/013E3;1$A3$BU/O09$.0O;$E-29$-O992$A39$.03.29$31A39$:@23;9$A3$?0/13:12/;[,-$A3OZ2VE3$:/E?/9-;13$AO$?0/̂31$0=?/;A$]$O;$3;̂3O$A3$E=A2-12/;[$,U/.̂3:12N$391$A3$:0=30B39$39?-:39$;=:399-2039$]$B-$E293$3;$A29:O992/;$A39$0=9OB1-19$31$]$B3O0$D-B/029-12/;$f$93992/;9A3$039121O12/;$A39$0=9OB1-19$-OZ$=:@3BB39$B/:-B39$31$0=>2/;-B39L$E293$3;$?B-:3$AU/O12B9AU-;2E-12/;L$3Z?/9212/;$?@/1/>0-?@2\O3L$9213$2;130;31$A=A2=L$A=?B2-;1$0=9OE-;1$B39$?02;:2?-OZ/.̂3:12N9$31$0=9OB1-19$AO$?0/̂31[$_̀ _$̀gb$h$A/;1$à $̀̀`̀ $h$N2;-;:=9$?-0$B-$M/;A-12/;$M0-;W/29$K/EE30[
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